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Reasoning Mega Quiz for SSC Tier-1

Q1. Select the odd word/letters/number/number pair from the given alternatives.

()FJ

Q2. Select the odd word/letters/number/number pair from the given alternatives.
(a) 325
(b) 437
(c) 246
(d) 564

Q3. Select the odd word/letters/number/number pair from the given alternatives.
(a) 192

(b) 240
(c) 141
(d) 173

Q4. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.
Bit, Byte, Kilobyte, Megabyte, ?
(a) Binary

(b) Gigabyte

(c) Terabyte
(

d) Nanobyte NGRS

Q5. A series is given with one term missing. Choose the correct Spe‘:ial Offer
alternative from the given ones that will complete the series.

BD, EG, H]J, ? FCI 2021

(a )LN AGM PAPER -I
(b) Technical | Accounts | Law
(c) Medical Officer
(d) 20 TOTALTESTS
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Q6. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.
WD, SH, OL, ?

Q7. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

18, 25, 34, 45, ?

(a) 60

(b) 58
(c) 59
(d) 65

Q8. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

7,49, 343,?

(a) 3087

(b) 1029
(c) 2401
(d) 1091

Q9. The sum of ages of Ram and his son is 48. If his uncle's age is also included the average
becomes 40. What is the age of Ram's uncle?

(a) 48

(b) 50

() 72

(d) 34

Q10. Arrange the given words in the sequence in which they occur in the dictionary.
i. Accuse

ii. Accord

iii. Acquisite

iv. Acquire

(a) ii, i, iv, iii

(b) 1, ii, iv, iii

(c) ii, i, iii, iv

(d) iv, i, i, iii

2 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q11. How many triangles are there in the following figure?

Q12. Select the word-pair in which the two words are related in the same way as are the two words
in the following word-pair.

Suitcase : Cloak Room

(a) Salary : Credit

(b) Money : Bank

(c) Chair : Furniture

(d) Bag : Luggage

Q13. The different positions of the same dice are shown. Which number will be on the face
opposite to the one having 2?

(7oLl L)
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Q14. Which number will replace the question mark (?) in the following series?
115, ?, 134, 145, 157,170

(a) 124

(b) 122
(c) 125
(d) 127

ENGLISH

Special Offer
Q15. Select the alternative that shows a different relationship as

the given pair. F C I 2 0 2 1

Crude : Raw
ASST. GENERAL MANAGER

(a) Isolation : Separation .. .
b) Distinguished : August (General Administration)

(
(c) Assert : Hide
(d) Stop : Conclude

20 TOTAL TESTS
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Q16. Which one of the following does not belong to the group?
(a) Android

(b) BADA
(c) DOS

(d) Symbian

Q17. Find the odd one out among the following.
(a) ECS

(b) RTGS
(c) NEFT
(d) EMI

Q18. An assertion (A) and a reason (R) are given below.
Assertion (A): Mangoes are sweet when they are ripe.

Reason (R): Mangoes are available mainly in summer in India.
Choose the correct option.

(a) Both A and R are true and R is the correct explanation of A

(b) Bothe A and R are true, but R is not the correct explanation of A
(c) Ais true, but R is false

(d) A is false, but Ris true

Q19. Statements followed by some conclusions are given below.
Statements:

1. Sam sleeps more than Ram who sleeps only for 5 hours every day.
2. Shyam sleeps for 8 hours which is lesser than Sam’s by 2.
Conclusions:

I. Sam sleep for 6 hours.

II. Ram has a bad sleeping habit.

Find which of the given conclusions logically follows from the given statements.

(a) Only conclusion I follows.
(b) Only conclusion II follows.
(c) Both I and II follow.

(d) Neither I nor II follows.

Q20. If Sun : Star then Moon :
(a) Star

(b) Planet
(c) Comet
(d) Satellite

4 | www.bankersadda.com www.sscadda.com | www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q21. Select the related word/letters/number from the given alternatives.
68:130::222:?
(a) 345

Q22. Find the odd word/letters/number pair from the given alternatives
(a) CZHK

(b) SENO
(c) XUBU
(d) MLAE

Q23. Arrange the following words as per order in the dictionary
1. Follicle

2. Folk

3. Follow

4. Foliage

(@)4,21,3

(b)3,4,2,1

(4,312

(d)2,4,3,1

Q24. A series is given, with one term missing. Choose the correct alternative from the given ones
that will complete the series.

463, 452, 439, 424, ?

(a) 407

Q25. X is the husband of Y. W is the daughter of X. Z is the husband of W. N is the daughter of Z.
What is the relationship of N to Y?

(a) Cousin

(b) Niece

(c) Daughter

(d) Grand daughter
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Q26. Select the related word/letters/number from the given alternatives.
AIDS : VIRUS : : MALARIA : ?

(a) Protozoa

(b) Bacteria
(c) Fungi
(d) Algae

Q27. Select the related word/letters/number from the given alternatives.
58531 :11::78363:?

Q28. Find out the odd word/letters/number/number pair from the given alternatives.
(a) EV

(b) G

(©]Q

(d) PL

Q29. A series is given with one term missing. Choose the| correct alternative from the given ones
that will complete the series.

?, Kerosene, Diesel, Fuel oil

(a) Lubricating oil

(b) Asphalt
(c) Petrol
(d) Wax

Q30. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

MNP, STV, YZB, ? TEST SERIES
(a) GHJ Bilingual
(b) JKM

(c) EFH

(d) CDB

35 TOTAL TESTS
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